Journal of Nonlinear Analysis and Optimization Vol. 15, Issue. 1, No.3 : 2024 ISSN : **1906-9685** 



# **OSCILLATORY BEHAVIOR OF FIRST ORDER DELAY DIFFERENCE EQUATION**

# K. MASANIAMMAL<sup>1</sup>, I. MOHAMMED ALI JAFFER<sup>2</sup><sup>1,2</sup>Department of Mathematics, Government Arts College, Udumalpet-642126, Tamilnadu, India.

### ABSTRACT

We established some sufficient conditions involving the oscillatory behavior of first order delay difference equation of the form

 $\Delta(a_n w_n) + r_n w_{n-m} = 0, n \in N.$ 

Examples are provided to illustrate the results.

Keywords: Difference Equation, Oscillation, Delay.

## INTRODUCTION

Consider the first order delay difference equation,

 $\Delta(a_n w_n) + r_n w_{n-m} = 0, n \in N.$ 

(1.1)

where  $\{a_n\}, \{r_n\}$  are sequences of positive real numbers, *m* is a non-negative integers. A nontrivial solution  $\{w_n\}$  of (1.1) is oscillatory if it is neither eventually positive nor eventually negative and non-oscillatory otherwise.

#### MAIN RESULTS

**Theorem 2.1.**Let  $r_n > 0$  for all  $n \in N$  and  $\lim_{n \to \infty} \sup \sum_{s=n-m}^{n} \frac{r_s}{a_s} > 1(2.1)$ Then, the difference equation (1.1) is oscillatory. **Proof.** Let  $w_n > 0$  for all  $n \in N(n_1)$  be a solution of (1.1). Since  $r_n > 0$ , for all  $n \in N(n_1 + m)$ , equation (1.1) implies that  $\Delta w_n \leq 0$ , and hence

 $w_n$  is

non-increasing on  $N(n_1 + m)$ . Therefore,  $\lim_{n\to\infty} w_n = \gamma \ge 0$  exists. But taking the limit in (1.1) ensures that  $\gamma = 0$ . Now summing (1.1) from  $n_2 \in N(n_1 + m)$ , to  $n_2 + m$ , we have  $a_{(n_2+m+1)}w_{(n_2+m+1)} - a_{n_2}w_{n_2} + \sum_{s=n_2}^{n_2+m} \frac{r_s}{a_s}w_{s-m} = 0$ ,

which implies that

$$a_{(n_2+m+1)}w_{(n_2+m+1)} - a_{n_2}w_{n_2}\left[1 - \sum_{s=n_2}^{n_2+m} \frac{r_s}{a_s}\right] \le 0.$$

Therefore,

$$1-\sum_{s=n_2}^{n_2+m}\frac{r_s}{a_s}\geq 0.$$

and hence

$$1 \ge \lim_{n_2 \to \infty} \sup \sum_{s=n_2}^{n_2+m} \frac{r_s}{a_s}$$

This contradicts (2.1) and completes the proof.

**Theorem 2.2.** Suppose that

 $\lim_{n \to \infty} \inf \frac{r_n}{a_n} = d > 0 \text{ and } \lim_{n \to \infty} \sup \frac{r_n}{a_n} > 1 - d.$ Then, the following hold
(2.2)

(i)  $a_{n+1}x_{n+1} - a_nx_n + \frac{r_n}{a_n}x_{n-m} \le 0, n \in N$ has no eventually positive solution

$$(ii)a_{n+1}z_{n+1} - a_n z_n + \frac{r_n}{a_n} z_{n-m} \ge 0, n \in \mathbb{N}$$
(2.4)

has no eventually negative solution

(iii)difference equation (1.1) is oscillatory. **Proof.**Assume that  $x_n$  is an eventually positive solution of (2.3), that is there exists a  $n_1 \in N(1)$  such that  $x_n > 0$  for all  $n \in N(n_1)$ . Let  $\epsilon > 0, 0 < \epsilon < d$  and  $n_2 \ge n_1$  be such that  $a = \epsilon > 0$  for all  $n \in N(n_1)$ .

 $\frac{r_n}{a_n} \ge d - \epsilon > 0, \text{ for all } n \in N(n_2).$ Let  $n_3 = \max\{n_1 + m, n_2\}$ 

so that

$$a_n \mathbf{x}_n \ge \frac{r_n}{a_n} \mathbf{x}_{n-m} \ge (d-\epsilon) \mathbf{x}_{n-1}$$
, for all  $n \in N(n_3)$ ,

since  $x_n$  is non-increasing for all  $n \in N(n_3)$ . On the other hand, we have

$$0 \ge a_{n+1} \mathbf{x}_{n+1} - a_n \mathbf{x}_n + \frac{r_n}{a_n} \mathbf{x}_{n-m}$$
$$\ge a_{n+1} \mathbf{x}_{n+1} + a_n \mathbf{x}_n \left(\frac{r_n}{a_n} - 1\right), \text{ for all } n \in N(n_3).$$

so that

$$a_n \mathbf{x}_n \left(\frac{r_n}{a_n} - 1 + d - \epsilon\right) \le 0$$
, for all  $n \in N(n_3)$ ,

Thus, it follows that

$$\frac{r_n}{a_n} \le 1 - d + \epsilon$$
, for all  $n \in N(n_3)$ ,

and hence

$$\lim_{n \to \infty} \sup \frac{r_n}{a_n} \le 1 - d + \epsilon$$

However, since  $\epsilon > 0$  is arbitrary, we have

$$\lim_{n\to\infty}\sup\frac{r_n}{a_n}\leq 1-d.$$

This contradicts (2.2) and the proof of (i) is complete.

The conclusion (ii) follows from (i) by letting  $w_n = -z_n$  for an eventually negative solution  $x_n$  of (2.4).

Finally, (iii) follows from (i) and (ii).

**Theorem 2.3.** Assume that 
$$r_n > 0$$
 for all  $n \in N$  and  

$$\lim_{n \to \infty} \inf \sum_{s=n-m}^{n-1} \frac{r_s}{a_s} > \frac{m^{m+1}}{(m+1)^{m+1}} .$$
(2.5)

Then, the conclusions of Theorem (2.2) hold.

Proof. We shall prove only (iii), whereas (i) and (ii) can be proved analogously.

Let  $w_n$  be a non-oscillatory solution of (1.1), which we can assume to be positive eventually, and since  $r_n > 0$  this solution  $w_n > 0$  is eventually decreasing.

Therefore, on using  $w_n \le w_{n-m}$  in (1.1), eventually we obtain

$$\frac{r_n}{a_n} \le 1 - \frac{w_{n+1}}{w_n}.$$

and hence on using arithmetic and geometric means inequality, we find

$$\frac{1}{m} \sum_{s=n-m}^{n-1} \frac{r_s}{a_s} \le 1 - \frac{1}{m} \sum_{s=n-m}^{n-1} \frac{w_{s+1}}{w_s} \le 1 - \left[\frac{w_n}{w_{n-m}}\right]^{\frac{1}{m}}.$$
(2.6)

setting  $\gamma = \frac{m^m}{(m+1)^{m+1}}$ ,

from(1.1) we can choose a constant  $\delta$  such that for n sufficiently large

$$\gamma < \delta \leq \left(\frac{1}{m}\right) \sum_{s=n-m}^{n-1} \frac{r_s}{a_s}.$$

Therefore, from (2.6) for all large n,

$$\left[\frac{w_n}{w_{n-m}}\right]^{\frac{1}{m}} \le 1 - \delta,$$

which in particular implies that  $0 < \delta < 1$ . Now since

$$\max_{0 \le \eta \le 1} \left[ (1 - \eta) \eta^{\frac{1}{m}} \right] = \gamma^{\frac{1}{m}}.$$

we have  $1 - \eta \le \gamma^{\frac{1}{m}} \eta^{\frac{-1}{m}}$  for  $0 < \eta \le 1$ , and hence it follows that

$$\left[\frac{w_n}{w_{n-m}}\right]^{\frac{1}{m}} \leq \gamma^{\frac{1}{m}} \delta^{\frac{-1}{m}}$$

which is the same as

$$\frac{\delta}{\gamma} w_n \le w_{n-m}. \tag{2.7}$$

Now using (2.7) instead of  $w_n \le w_{n-m}$  in (1.1) and repeating the arguments, we find  $\binom{\delta}{2}^2 w_n \le w_n \text{ for all large } n$ 

Thus, by induction, for every  $n \in N(1)$  there exists an integer  $n_n$  such that for all  $n \in N(n_n)$  $\left(\frac{\delta}{\nu}\right)^n w_n \le w_{n-m}.$  (2.9)

Next, for sufficiently large n,

$$\sum_{s=n-m}^{n} \frac{r_s}{a_s} \ge \sum_{s=n-m}^{n-1} \frac{r_s}{a_s} \ge m\delta = M.$$
(2.10)

say, since  $\delta > \gamma$ , we can choose n such that

$$\left(\frac{\delta}{\gamma}\right)^n > \left(\frac{2}{M}\right)^2 \qquad . \tag{2.11}$$

For this specific value of n, we consider n sufficiently large, say  $n^*$  so that for all  $n \ge n^*$ , all the above inequalities are satisfied.

Then, for each  $n \ge n^* + m$  there exists an integer  $\hat{n}$  with  $n - m \le \hat{n} \le n$  so that

$$\sum_{s=n-m}^{n} \frac{r_s}{a_s} \ge \left(\frac{M}{2}\right) \text{ and } \sum_{s=\hat{n}}^{n} \frac{r_s}{a_s} \ge \left(\frac{M}{2}\right).$$

From (1.1) and the non-increasing nature of  $w_n$ , we have

$$-w_{n-m} \le w_{n+1} - w_{n-m}$$
$$= \sum_{s=n-m}^{n} w_{s+1} - w_s$$
$$= -\sum_{s=n-m}^{n} \frac{r_s}{a_s} w_{s-m}$$

$$\leq -\left[\sum_{s=n-m}^{\hat{n}} \frac{r_s}{a_s}\right] w_{\hat{n}-m}$$
$$\leq -\frac{M}{2} w_{\hat{n}-m}$$

and hence

$$\frac{M}{2}(w_{\hat{n}-m}) \le w_{n-m}.$$
 (2.12)

Similarly, we find

$$-w_{\hat{n}} \leq w_{n+1} - w_{\hat{n}}$$
$$= \sum_{s=\hat{n}}^{n} ((w_{s+1}) - w_s)$$
$$= -\sum_{s=\hat{n}}^{n} \frac{r_s}{a_s} w_{n-m}$$
$$\leq -\left[\sum_{s=\hat{n}}^{n} \frac{r_s}{a_s}\right] w_{s-m}$$
$$\leq -\frac{M}{2} w_{n-m}$$

and so

$$\frac{M}{2}W_{n-m} \le W_{\hat{n}}$$
 (2.13)

Combining (2.9),(2.12)and (2.13), we get

$$\left(\frac{\delta}{\gamma}\right)^n \le \frac{w_{\hat{n}-m}}{w_{\hat{n}}} \le \left(\frac{2}{M}\right)^2. \tag{2.14}$$

But this contradicts (2.11) and the proof is complete.

# 3. EXAMPLE

**Example 3.1**.Consider the first order delay difference equation  $\Delta(nw_n) + (2n+1)w_{n-2} = 0 \qquad (3.1)$ Here  $a_n = n, r_n = 2n + 1$ .

All conditions of Theorem (2.3) are satisfied.

Hence all solution of equation (3.1) are oscillatory.

In fact,  $w_n = (-1)^n$  is one such solution of equation(3.1).

Example 3.2. Consider the first order delay difference equation

$$\Delta\left(\frac{1}{n}\right) + (2n+1)w_{n-2} = 0 \tag{3.2}$$

Here  $a_n = \frac{1}{n}$ ,  $r_n = 2n + 1$ .

All conditions of Theorem(2.3) are satisfied. Hence all solution of equation (3.2) are oscillatory. In fact,  $w_n = (-1)^n$  is one such solution of equation (3.2).

## 4. Conclusion

In this paper, the oscillatory behaviour of first order delay difference equation of the form(1.1) has been studied and established some sufficient condition for oscillatory behavior of (1.1). Various example are considered to illustrate the main results.

# References

[1] BASSANT M. EL-MATARY, HASSAN A. EL-MORSHEDY, VASILEIOUS BENEKAS, AND IOANNIS P. STAVROULAKIS, Oscillation Conditions for Difference Equations With Several Variable Delays, Opuscula Math. 43, no. 6 (2023), 789-801.

[2]VASILEIOUS BENEKAS, ARDAK KASHKYNBAYEV, A Survey on Sharp Oscillation Conditions for Delay Difference Equations, Journal of Advances in Applied and Computational Mathematics, 2021, 117 - 128.

[3] V. BENEKAS, A. GARAB, A. KASHKYNBAYEV, I. P. STAVROULAKIS, Oscillation Criteria for Linear Difference Equations With Several Variable Delays, Opuscula Math. 2021, 41 (5), 613-627.
[4] ABEL. GARAB, I. P. STAVROULAKIS, Oscillation Criteria for First Order Linear Delay Differential Equations With Several Variable Delays. Applied Mathematics Letters 106 (2020).

[5] G. E. CHATZARAKIS, S. PINELAS, AND I. P. STAVROULAKIS, Oscillations of Difference Equations With Several Deviated Arguments. Aequat. Math. 92 (2018), 1195-1200.

[6] A. MURUGESAN, R. SUGANTHI, Oscillaion Criteria for First Order Nonlinear Neutral Delay Difference Equations With Variable Coefficients, International Journal of Mathematics and Statistics Invention, 2016, pp-35-40.

[7] IOANNIS P. STAVROULAKIS, A Survey on the Oscillation of Differential Equations With Several Deviating Arguments, Stavroulakis Journal of Inequalities and Applications 2014, 2014:399.

[8] J. BASTINEC, L. BEREZANSKY, J. DIBLIK, AND Z. SMARDA, A Final Result on the Oscillation of Solutions of the Linear Discrete Delayed Equation  $\Delta x(n)=-p(n)x(n-k)$  with a positive coefficient, Hindawi Publishing Corporation Abstract and Applied Analysis. Volume 2011.

[9] G. E. CHATZARAKIS AND I. P. STAVROULAKIS, Oscillations of First Order Linear Delay Difference Equations. The Australian Journal of Mathematical Analysis and Applications. Volume 3, Issue(1), Article 14, pp: 1-11, 2006.

[10]L. H. ERBE, B.G. ZHANG, Oscillation of Discrete Analogues of Delay Equations. Differential and Integral Equations. Volume 2, Number 3, 1989: pp: 300-309.

## 27